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< |‘)O‘” O|O Z ap — a, +an +1+ +an +4 5an +2 = OOlDE

k=n,
Offt XfA= n,0ff CHSIO a,, 1o = OO|EF.
a; = 200122 qa,,, > 02! Xt n0| EXBH| 2oliM=
SAZE 0 OlSO0|HL XD S40[TA ay = 00[0{0F I},

ol =X7r 0 OO (LhE TF
as = 00|Ct &, a
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POl $a, = 0 Ao
k=1 2
40+ (ny—1)d=0, (ny—1)d=—400|Ct,
ny/b AA=0]10 d7F d =—102) 22| FHO0|22 (n,—1)d=—402 UEAF|= 4%

d=—10, ny =5
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(LHOlA b, = ag0I22 (THOIM |ay|= |bs]= | as]
% ay=a5 F= a, =— a2 28 {a,}2 S} 00| of|22
ay, =—ag, a;+ag=2a5=00IX a;=00]C}.

a, =a+(n—1)det FH a+4d=00|2
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Y, = 20Cat9d) 001 9q 4 94— 20|92 4=—5, d=20/2
k=1

2
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ZholIM |a,|=|0,| 012 n = 501M a, = 00|C}.
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et Y 36,00 alol ZAJt 27| fleiMe
k=4

b,=20|20 n=5,6, -, 9 M} b, =—a,0|0{0F BIC}.

—
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(holl 2ltof RE Xt noi| CHotoS

Qg1 X Gy, =— T+ 3(n—1)=3n—100]11
a1a2 - 7, a/5a/6 —_ 1, a/7a/8 - 20||:|-
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a‘? a5 CLS
—1
1 1
1
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? 82 S0IM ay < a; < agz THEATIE R
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E=ay,==7 a;=1, a3 =2 £= ay=—1, a5 =1, a3 =
OLCt,
asag =— 10|22 ay+ag+ a0l Xt El= ERE ay=—1, a; =1, a5 =29 FR0|

Ol ay+ag+ag=—1—1+2=00|C}

gy —1 X Gy, = 3n—100|2 =G {a,}2
ag < ay, =— 4000 a7t 2L E= B2
n > 504 3n—10 = 00|22 a,,2| #0| X7} == GR=

20
2t Y ag 2l AT (—14+4—1+2)+ Y, (3k—10)= 444
k=1 k=5
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10 10
Yia, =), (ap+ k)= 3 (aj,+3)01AM
k=1 k=3

k=2
10

10 10
Yiap— Y (ap+k)=a;— D k=a;—54=00{A a; =54
F=1 k=2

k=2
10

10 10
Ya,— Z(ak+3):a1+a2— Yi3=a,+a,—24=00M a,=—30
E=1 k=3

k=3

-1 aQ
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1
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Qpig

_ n—lOE = A O|E|-
b, 02t & =8 {b,}2 SHITBO0IEE b, =ar 2t = &= U
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n
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b= —=101A ar® =1,

ag
o 10 _ 52 ol
3 16 _ __ N
=2 p = = 22082 bbby =a’ X7 P
b5 = a’ 0 ayy’ 16
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P =101B2 " =—8+2, r=— /20| ar’ =10 a= Tt

by Lt (— ﬁ)x (- v2)" tolct,
as \/5 \/2

¢ - —0O0|E2 q,=—4
n =12 CHYSIH a_Q_ 0




o248 Qo H,P,2l & Jopt = Lo ’

o Q8 yEERf o P2 y#“°| Xe 42 Q, ., H,P,2l =0[0|122 o|Ck
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=

QTL+1<GTL+1’ (an—i-l)2>’ P”<a”’ 2<a”)2>o

(an-i-l)2 - 2<an)2 :

o]ink
<n+1 +- 2><{an>2+}
ole2 29 {(a,)?+ 1 |} 287} 2

a, =101 29 {(a,)?+1}9 WS 20|22 4H {(a,)?+1}2| Litste

(a,)?=| 2"—1
01z, Q,(a, (a,)?)0l22 M2 P Q,° ZOl= (a,)*0IC}, W2

P.Q,= Z (2"—1)=| 2(2"—1)—n
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{(51 Koy~ E}: 3 5,00
k=1 k=1
50 1
{(51 —k)a,— E}: 50a; +49a, +48a;+- - a5y — 1
k=1

49
18, =(a))+ (a; +ay)+ (ay +ay+ay)++ (a;, +ay+az+-+ay)

=49a, +48a, +4Ta; +- -+ a,0|Ct.
500/1 +49a2 +48a3 +"' a/50 - 1 :490/1 +48a2 +47a3 +'+ a/49
OIE= a, tay+ag+---+as =55 = 10|C}

- (50 _1) (1) 1
a, = ar" " '0J2} £0d 550:%:1, Sy =2 r_l = o5 O
a(r50— 1) o a(r25— 1)<r25+ 1) o 1 o 25
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{an (an > O)

b =

n
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1—a, (a SO)
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2
a,+a,=— 2022 9 {g,)2 ZH|= £20(1, a, > 00N a; > 00|C},

(2t b, =1—a, = a0l a;+a, =10|C},

a; < 00|H b, =1—a; =a,0X a; = —O0|22 2=0|C} UL}2EM a, > 00|CF
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a, = ar" " '0|2} S,
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a, % a, .y < 4a, — 401 1Ol 3n—12 CHRISIH
a‘3n—1 X a’3n < 4a’3n—1 _4O|—_’|— <7 |‘)O‘”*‘| a3n—1 — a3nO|E§_
<a3n*1)2 = 4a3n*1 _4, (a?m*l - 2)2 =< 0, A3p—1 — 2

[Tt 2= X4 o0l CHSHO ay,— = ag, = 20]EF,

a, X a,,; < 4a,— 408 n0l| 3ns CHYSHH

As, X Q3,41 < 4as, — 400N ay, =202 2a,, ., <4, ay,, < 2
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a,—n’ (no] %< 25

a2:a+12

a3 =a+1"—2

Uyyop =a+1°—2°+3%— -+ (2n—1)*— (2n)?
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a,=1, ay=k—1, az=(k—1)(k+1), a,=(k—1)*k+1), as=(k—1)*(k+1)?
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m+22

\/2
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<7 H Aop—1 + Qop — ( \/§+ 1>Cln
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a, —k (an > 0)
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